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ECONOMICS
( General )
Paper : 6.2
( Planning and Development in India )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

TS Al epyed e fan
fa) What is decentralized planning?
Ree@igs ARewm 2

(b) Write the full form of FDI.
FDI 3 o F101 forn |

(c) Give the meaning of democratic
planning.

sz AResR o faan
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(2)

{d) In which year was the tenure of Twelfth
Five-Year Plan of India completed?
@ 578 SRS AT ARG ARFHAR I
o e 2

(e) Mention one reason for slow growth rate
of Indian economy during the planning
period.

GRS ARFIAR IS SRSy FLART
TR TR T8I QAR 9B IRI Ty 790

(/) What is the main objective of Import
Substitution Policy of India?

et W Rew e 0 Soen & 2

{g) In which year was the NITI Aayog of India
formed?

SRS NITI Scs R o7 o199 931 02 ?

(h) Write one important feature of India’s
Economic Globalization Policy.

ORSY SflAfeT PR MM b1 @weyd
caf®s foran

) Mention one important failure of Indian
economic planning.
SRR WLART ARFFTR 9Bl AyE [Reerel
ToEd 911

8AJ773 ( Continued )

2.

(3)

() Define the concept of developing
economy.

TR LS YRR R A |

Answer the following questions : 2x5=10
v fal eppiyRd e fam

a) Mention two strategies of Indian
economic planning.

SRS SRS ARSI YB1 (PP Brad I
(b) What is poverty line?

wiRwer SR & 2
{c) State two major obstacles for proper

implementation of decentralized planning
in Assam.

RS REETe ARTTAR 7% TR T T
foeErel Tray 791 |

(d) Write two short-term objectives of Indian
economic planning.

SR WLART ARFFAR 1 ZFEA ST
ferar 1

{e) How is ‘Act East Policy’ different from
‘Look-East Policy'?

‘oata 79 I A’ @FENT R oE AT
F5TS AT ?
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(4)

3. Answer any four of the following questions :
5x4=20

wore a1 2PaeAR] R e wilReR Tes

(a) Write the full form of NEC. Mention four
important functions of NEC.
NEC T 9 st o1 | NEC T 5iiRor %y
e TEy 90

(b) Is there any necessity of economic
planning in the context of economic
globalization? Give your own arguments.

ALART (IR cicafros WA
ARFTR ATl IACA? (FNH T&H

e fawm IS faan

(c) Mention five indicators of economic
backwardness.
QAT AFASOR #(T601 e TS T |

(d) Explain the concept of ‘economic self-
sufficiency’ in the context of India’s
economic planning.

SRy AT AfRTER Fee s Al
QAT ARAASTNTSI’T YRACET J7 41 |

(e} Describe the current government
strategy of poverty alleviation.

4GSl TP PR BIFNI OO Gl SreifSs

CFPEPTR 61 340 |
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() Define mixed economy. Is India a mixed
economic country?
o wd@iRy v far sReRd @
YA P T ?
4. Answer the following questions : 10%x4=40 _
wers i erprpRd s fra
(a) Evaluate the role of economic planning
during post-liberalization period of India.
JYARST TN 7T IS SR
ST e S sErE w40
Or / 941
Explain the following basic features of
Indian economy :
SR WIS o WFEPTR oo fra e
A 9
() Low per capita income
iy v R o
(iij Predominance of agriculture
FRI e
(iij) Vicious circle of poverty
TREOR ARFOE
(iv) Population explosion
GPIR Reerd
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(b)

(c)
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(6)

Discuss the recent trend and direction of
foreign trade in India.

AreifST Jue SRS (AR I 4= SF
5ifS =A™ F4T |

Or / 241

Distinguish between FDI and FPL
Explain the role of FDI in the economic
development of India.

FDI 9 FPI 3 W&s o143 (A1 3311 o7eq
SAes Trges FDI T 9T A 1 |

What is economic globalization? Assess
the consequences of economic
globalization in Indian economy.

fAfes  ¢rEagield 7 SRem  weiee
RARS (AMARFITR FoNFTPR RLRT 341 4

Or / 9

Discuss the broad objectives of Indian.

economic planning adopted during post-
liberalized period.

e TARITITR [T IENRAS  TRSR
SfAfor  ARTER I/ SRR SCEAl
111
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(7))

(d) Write a note on any five programmes that
have been developed for eradication of
poverty in India.

SRed TRyl FRRA T Toe @R R’ @
*iichl TReel AARR PP s@e @1 BRI
o

Or / a3

Do you think economic growth is linked
with the reduction of poverty? Give any
five arguments in support of your
answer.

wRuel 271 SF gAfer S T e 4l
o o SRIA ? (oFR T WYTE R @
*{foo1 3 fa |

* % %
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